
Find the  electric field intensity at a distance z above one end of the straight line segment of 

length l ,which carries a uniform line charge k. Check that your formula is consistant what you 

would expect for z.&gt;&gt;&gt;l. 

Solution 

                       ; length l=L. 

 

   
 

    
∫
   

  
     (              

 

 
)

   

   

 
 

    
  ∫

 

(     )
 
 

   

 

 

 

    
  [

 

  
 

√     
]
   

   

   
 

    

 

 

 

√     
 

   
 

    
∫
   

  
       

 

    
 ∫

   

(     )
 
 

 

 

 

 

   
 

    
 [ 

 

√     
]
   

   

   
 

    
  [
 

 
 

 

√     
] 

Net electric field              

   
 

    

 

 
 [(

 

√     
  )  ̂  (

 

√     
)  ̂] 

For z >> L and         
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